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1. ОБЛАСТЬ ПРИМЕНЕНИЯ

        Фонд оценочных средств (ФОС) – неотъемлемая часть рабочей программы дисциплины «Иностранный язык» и предназначен для контроля и оценки образовательных достижений студентов, освоивших программу дисциплины. 

2. ЦЕЛИ И ЗАДАЧИ ФОНДА ОЦЕНОЧНЫХ СРЕДСТВ

 Цель ФОС – установить соответствие уровня подготовки обучающегося требованиям ФГОС ВО по направлению подготовки 35.04.01 «Лесное дело», утвержденного приказом Министерства образования и науки РФ от 26.07.2017 № 706.

Для достижения поставленной цели фондом оценочных средств по дисциплине «Деловой иностранный язык» решаются следующие задачи:
· контроль и управление процессом приобретения студентами знаний, умений и навыков, предусмотренных в рамках дисциплины;
· контроль и оценка степени освоения универсальных компетенций, предусмотренных в рамках данной дисциплины;
· обеспечение соответствия результатов обучения задачам будущей профессиональной деятельности через совершенствование традиционных и внедрение инновационных методов обучения в образовательный процесс в рамках данной дисциплины.

3. ПЕРЕЧЕНЬ ИНДИКАТОРОВ ПЛАНИРУЕМЫХ РЕЗУЛЬТАТОВ ОБУЧЕНИЯ ПО ДИСЦИПЛИНЕ, СООТНЕСЕННЫХ С ПЛАНИРУЕМЫМИ РЕЗУЛЬТАТАМИ ОСВОЕНИЯ ОБРАЗОВАТЕЛЬНОЙ ПРОГРАММЫ
	
Процесс изучения дисциплины направлен на формирование следующих компетенций и индикаторов их достижений: 

Паспорт фонда оценочных средств по дисциплине
	
Код и наименование универсальной компетенции
	Код и наименование индикатора достижения универсальной компетенции, в процессе изучения дисциплины 
	

Планируемые результаты обучения 
	
Наименование оценочного средства (процедуры оценивания)


	УК-4. Способен применять современные коммуникативные технологии, в том числе на иностранном(ых) языке(ах), для академического и профессионального взаимодействия

	4.1 Знает: - правила и закономерности деловой и академической коммуникации; - современные коммуникативные технологии на русском и иностранном языках
	Знать:	правила и закономерности деловой и академической коммуникации, современные коммуникативные технологии на иностранных языках
Уметь:	применять на практике коммуникативные технологии, методы и способы делового общения для академического и профессионального взаимодействия

Владеть: методикой межличностного делового общения на иностранном языке, с применением профессиональных языковых форм, средств и современных коммуникативных технологий.
	
	Тесты  по темам

Тексты для письменного перевода

Устные сообщения по темам

Владение лексическими единицами



	
	4.2. Умеет: - применять на практике коммуникативные технологии, методы и способы делового общения для академического и профессионального
взаимодействия
	
	

	
	4.3. Владеет: - методикой межличностного делового общения на русском и иностранном языках, с применением профессиональных языковых форм, средств и современных коммуникативных технологий
	
	



4. ОПИСАНИЕ ПОКАЗАТЕЛЕЙ И КРИТЕРИЕВ ОЦЕНИВАНИЯ КОМПЕТЕНЦИЙ НА РАЗЛИЧНЫХ ЭТАПАХ ИХ ФОРМИРОВАНИЯ

4.1. ПЕРЕЧЕНЬ ОЦЕНОЧНЫХ СРЕДСТВ, ИСПОЛЬЗУЕМЫХ
ДЛЯ ТЕКУЩЕЙ АТТЕСТАЦИИ

	№
п/п
	Наименование оценочного средства
	
Краткая характеристика оценочного средства
	Представление оценочного средства в фонде

	1
	Тесты  по темам 

	Система стандартизированных заданий, позволяющая автоматизировать процедуру измерения уровня знаний и умений обучающегося по темам дисциплины «Иностранный язык»
	Фонд тестовых заданий по темам

	2
	Тексты для письменного перевода 
	Средство проверки умений применять полученные знания для письменного перевода научно-популярных, научно-технических  текстов и текстов по направлениям подготовки студентов
	Комплект текстов 

	3
	Устное сообщение
	 Средство проверки умений высказываться устно по определенным темам повседневного и делового характера
	Темы устных сообщений

	4
	Владение лексическими единицами
	Средство, позволяющее оценить умение студента раскрывать значения иностранных слов
	Перечень лексических единиц 



4.2. КРИТЕРИИ И ШКАЛЫ ДЛЯ ИНТЕГРИРОВАННОЙ ОЦЕНКИ УРОВНЯ СФОРМИРОВАННОСТИ КОМПЕТЕНЦИЙ

Под уровнем компетенции понимается степень готовности и способности выпускника, освоившего ОПОП, к решению различных по виду и сложности профессиональных задач. 

Планируемые результаты обучения и критерии их оценивания
	Индикаторы компетенции
	Оценки сформированности компетенций

	
	удовлетворительно
	хорошо
	отлично

	Полнота знаний  
	Минимально допустимый уровень знаний, допущено много негрубых ошибок
	Уровень знаний в объеме, соответствующем программе подготовки, допущено несколько негрубых ошибок
	Уровень знаний в объеме, соответствующем программе подготовки, без ошибок   


	Наличие умений
	Продемонстрированы основные умения, решены типовые задачи с негрубыми ошибками, выполнены все задания, но не в полном объеме  

	Продемонстрированы все основные умения, решены все основные задачи с негрубыми ошибками, выполнены все задания в полном объеме, но некоторые с недочетами. 
	Продемонстрированы все основные умения,
решены все основные задачи с отдельными несущественными недочетами, выполнены все задания в полном объеме 

	Наличие навыков 
(владение опытом) 
	Имеется минимальный 
набор навыков для решения стандартных задач с некоторыми недочетами 
	Продемонстрированы базовые навыки 
при решении стандартных задач с некоторыми недочетами 

	Продемонстрированы навыки 
при решении нестандартных задач без ошибок и недочетов 


	Характеристика сформированности компетенции

	Сформированность компетенции соответствует 
минимальным требованиям. Имеющихся знаний, умений, навыков в целом достаточно для решения практических (профессиональных) задач, но требуется дополнительная практика по большинству практических задач.
	Сформированность компетенции в целом соответствует 
требованиям. Имеющихся знаний, умений, навыков и мотивации в целом достаточно для решения стандартных практических (профессиональных) задач. 

	Сформированность компетенции полностью 
соответствует требованиям. Имеющихся знаний умений, навыков и мотивации в полной мере достаточно для решения сложны практических (профессиональных) задач. 





5. ТИПОВЫЕ КОНТРОЛЬНЫЕ ЗАДАНИЯ ИЛИ ИНЫЕ МАТЕРИАЛЫ, НЕОБХОДИМЫЕ ДЛЯ ОЦЕНКИ ЗНАНИЙ, УМЕНИЙ, НАВЫКОВ И ОПЫТА ДЕЯТЕЛЬНОСТИ, ХАРАКТЕРИЗУЮЩИХ ЭТАПЫ ФОРМИРОВАНИЯ КОМПЕТЕНЦИЙ В ПРОЦЕССЕ ООП

5.1. КОНТРОЛЬНАЯ РАБОТА ДЛЯ ТЕКУЩЕЙ АТТЕСТАЦИИ (очная форма обучения)

АНГЛИЙСКИЙ  ЯЗЫК

I. Перефразируйте предложения, используя страдательный залог

Модель: Agatha Christie wrote many detective stories.
	         Many detective stories were written by Agatha Christie.

1. We gave our friend many interesting books for his birthday.
2. I returned the book to the library in time.
3. The teacher explained to us many important things.
4. We have just finished our work.
5. He has already solved his problems.
6. The teacher will allow Ann to translate the text by Monday.
7. The students will discuss my report next week.
8. The workers will build a new school in the village next year.
9. You may leave all the dictionaries on the table.
10. The sellers are to deliver the goods at the end of May.

II. Найдите инфинитив в предложении. Определите его форму и функцию. Переведите предложения.

1. I am glad to see you.
2. To swim in cold water is very healthy.
3. Your duty is to inform me about your work.
4. They will go to the library to prepare for their talk.
5. It was nice to have passed all the examinations.
6. I am very happy to have seen my old friends again.
7. We were sorry to have missed our train.
8. My elder brother likes to be asked about his hobbies.
9. To translate this text without a dictionary is not an easy task.
10. The function of a boiler is to transfer heat to water in the most efficient manner.

III. Закончите предложения, раскрыв скобки, употребив Complex Object.

1. The teacher watched the pupils (писать сочинение).
2. When I entered the classroom I saw some boys (играть в карты).
3. The parents want their children (хорошо знать иностранный язык).
4. I’d like this student (перевести эту статью).
5. My mother didn’t like me (играть в футбол).
6. They expected me (поступить в институт).
7. Our teacher wanted us (обсудить новый фильм).
8. They expected me (стать хорошим врачом).
9. I have always considered them (быть моими друзьями).
10. They find the offer (быть интересным).

IV. Переведите предложения, обращая внимание на сложные формы причастия.

1. Having lived in England for two years he speaks English very well.
2. The article being typed now will be published tomorrow.
3. She mentioned having seen her at the cinema. 
4. Having read the book I gave it to Peter.
5. The building being built in our street is the new theatre.
6. Having been interviewed he was offered a job.
7. Having read the instruction, they could start working with the new equipment.
8. Having been tested the machine was put into operation.
9. Having waited for half an hour he decided to go home alone.
10. They returned home, having been away for nearly two months.

ПРИМЕРНЫЙ ПЕРЕЧЕНЬ ЛЕКСИЧЕСКИХ ЕДИНИЦ, ИСПОЛЬЗУЕМЫХ
ДЛЯ ТЕКУЩЕЙ АТТЕСТАЦИИ (очная форма обучения)

	1.stand – лесонасаждение, древостой
	3	31.unfavorable soil	- неблагоприятная почва

	2.nutrients – питательные вещества
		32.barren – бесплодная земля

	3.storage tissue – запасающая ткань
		33.alder – ольха 

	4.annual ring – годичное кольцо
		34.willow – ива 

	5.hardwood tree – лиственное дерево
		35.aspen – осина 

	6.deciduous tree – лиственное дерево
		36.larch – лиственница 

	7.conifer – хвойное дерево
		37.juniper – можжевельник 

	8.root hairs – корневые волоски 
	38.maple – клен 

	9.sapwood – заболонь древесины
	3	39.elm – вяз, ильм

	10.food storage – запас питательных веществ
	40.rowan - рябина

	11.heartwood – сердцевина, ядро
		41.humid - влажный

	12.maturity – созревание, зрелость
		42.moss – мох, плаун 

	13.evaporation – испарение
		43.leach soil – выщелачивать почву

	14.needle-leaved – хвойный
	  44. lichen – лишайник 

	15.woodland – лесонасаждение, лес
	  45.desiccation – высыхание, высушивание

	16.habitat – место обитания
	46.subtundra forest – лесотундра 

	17.survival – выживание, долговечность
	  47.fertility – плодородие 

	18.extinction – уничтожение 
	  48.undergrowth – подлесок, подрост

	19.clear-cut- проводить сплошную рубку
	  49.sprout – давать почки 

	20.fossil fuels – ископаемое топливо
	  50.thinning – прореживание, рубка ухода

	21.primary forests – девственные леса
	  51.pest – вредитель. паразит

	22.to sustain – поддерживать, способствовать
	  52.disease – болезнь 

	23.broadleaf forest – широколиственный лес
	53.seed shell – оболочка, скорлупа семени

	24.arid – сухой, засушливый
	  54.pruning – обрезание ветвей

	25.to decompose – гнить, портиться
	  55.to harvest – заготавливать древесину

	26.forested biome – лесной биом
	  56.seed-tree – семенное дерево

	27.boreal forest – бореальный (северный) лес
	  57.silvicultural – лесоводческий 

	28.physiognomy – учение о живой природе
	  58.reforestation – лесовосстановление 

	29. old growth – спелое (лесо)насаждение
	59.deforest – вырубить леса 

	30.second growth – молодое насаждение
	  60.to replant – пересаживать (растение)



5.2. ПРОМЕЖУТОЧНЫЙ КОНТРОЛЬ

ПРИМЕРНЫЙ ОБРАЗЕЦ ТЕСТА ДЛЯ ЭКЗАМЕНА 

АНГЛИЙСКИЙ ЯЗЫК

ЗАДАНИЕ N 1    

[bookmark: _GoBack]Выберите английский эквивалент, соответствующий русскому:

1. запасающая ткань – a) cross section b) storage tissue c) sieve tube
2. лиственное дерево – a) sapwood b) softwood c) hardwood
3. питательные вещества – a) seeds b) nutrients c) cells
4. созревание – a) maturity b) progeny c) evaporation
5. внутренний слой коры – a) outer layer b) stem tip c) inner bark
6. заболонь – a) sap b) core c) bark
7. испарение – a) conduction b) evaporation c) section
8. молодое насаждение – a) young growth b) second growth c) old growth
9. засушливый – a) seral b) fossil c) arid
10. травянистые растения – a) gymnosperms b) herbivorous mammals c) herbaceous plants

ЗАДАНИЕ N 2    

Определите время сказуемого: a) Present Continuous, b) Past Continuous, c) Future Continuous, d) Present Perfect, e) Past Perfect, f) Future Perfect

1. Jane will be doing her home task all the evening tomorrow.
2. He has just come by car.
3. The letter hadn’t been received by yesterday evening.
4. They are discussing the plans of the next year.
5. My brother was watching TV at 5 o’clock p. m. yesterday.
6. I shall have passed all exams by the end of June.

ЗАДАНИЕ N 3    

Соотнесите предложение на английском языке с соответствующим ему предложением на русском языке (например:1-f)

1 – f The students will write a test…		a. Студенты пишут тест (сейчас).
2 – The students have written a test…	b. Студенты напишут тест (до конца урока).
3 – The students were writing a test …	c. Студенты писали тест (вчера).
4 – The students have been writing a test…	d. Студенты написали тест (уже).
5 – The students will be writing a test…	e. Студенты будут писать тест (через час).
6 – The students write a test…		f. Студенты напишут тест (завтра).
7 – The students will have written a test…	g. Студенты писали тест (в 9:00 утра).
8 – The students wrote a test…		h. Студенты пишут тест (часто).
9 – The students are writing a test…		i. Студенты пишут тест (с 9:00 утра).

ЗАДАНИЕ N 4    

Определите видовременную форму английского глагола-сказуемого и соотнесите цифру с буквой (например:1-b).

1 – b The students will have written a test…	a. Будущее неопределенное время
2 – The students will be writing a test…	b. Будущее перфектное время
3 – The students write a test…		c. Будущее перфектное-продолженное время
4 – The students wrote a test…		d. Будущее продолженное время
5 – The students will write a test…		e. Настоящее неопределенное время
6 – The students were writing a test…	f. Настоящее перфектное время
7 – The students had written a test…		g. Настоящее перфектное продолженное время
8 – The students have written a test…	h. Настоящее продолженное время
9 – The students have been writing a test…	i. Прошедшее неопределенное время
10 – The students are writing a test…	j. Прошедшее перфектное время
11 – The students had been writing a test…	k. Прошедшее перфектное-продолженное время
12 – The students will have been writing 	l. Прошедшее продолженное время
        a test…


ЗАДАНИЕ N 5    

Выберите правильный вариант перевода глагола-сказуемого русского предложения.

1. Статья была переведена вчера.
a) is translated; b) was translated; c) has been translated

2. Когда зазвенел звонок, статья переводилась студентами.
a) was translated; b) was being translated; c) were being translated.

3. Статью уже перевели, когда зазвенел звонок.
a) had been translated; b) has been translated; c) had translated.

4. Статью переведут завтра.
a) will be translated; b) is being translated; c) will have been translated.

5. Новая станция метро была построена в этом году.
a) is built; b) was built; c) has been built;

6. Новая станция метро строится недалеко от моего дома.
a) is being built; b) is built; c) will be built.

7. Новая станция метро будет построена к Новому году.
a) will be built; b) will have been built; c) has been built.

8. Он чувствовал, что за ним следят.
a) was followed; b) was being followed; c) is being followed.

9. Он часто ссылается на Ваши слова.
a) are referred to; b) refers to; c) are being referred to.

10. Какой материал они использовали для строительства?
a) was being used; b) has used; c) was used.


ЗАДАНИЕ N 6    

Определите функции инфинитива в следующих предложениях: a) подлежащее b) часть сказуемого c) дополнение d) определение e) обстоятельство

1. To drive a car in a big city is very difficult.
2. Here are some facts to prove your theory.
3. I wanted to speak to Tom, but I couldn’t find his telephone number.
4. It was nice to have passed all the examinations.
5. It was a great idea to send us over to Britain to learn English
6. David hopes to go to Oxford next October at the beginning of the new term.
7. Last week we went to Oxford to take the entrance examination at one of the colleges.
8. He wants to be asked at the lesson.
9. I am sorry to have broken your pen.
10. I want to be informed of her visit.

ЗАДАНИЕ N 7   

Выберите правильный вариант перевода, определяя зависимые и независимые герундиальные обороты

1. His coming back so soon was so unexpected.
а) Возвратившись так неожиданно быстро, он всех удивил.
b) То, что он вернулся так  быстро, было весьма неожиданным.
c) Он не ожидал, что вернется так быстро.

2. In spite of being very complicated the problem has been solved.
a) Несмотря на наличие сложной проблемы, они принялись за устранение ошибок.
b) Хотя они были вне себя от ярости из-за очень сложной проблемы, ее все же решили.
c) Несмотря на то, что эта проблема очень сложная, ее все же решили.

3. There is no hope of our getting a complete analysis of the measurements within 10 days.
a) Нет надежды, что мы получим полный анализ этих измерений в течение 10 дней.
b) То, что они получат полный анализ этих измерений в течение 10 дней, маловероятно.
c) Мы все еще надеемся на то, что получим полный анализ этих измерений через 10 дней.

4. Many solids can be changed to gases by heating.
a) Многие твердые тела меняются, испуская газы при нагревании.
b) Многие твердые тела можно превратить в газообразное состояние нагреванием
c) Нагревание многих твердых тел превращает их в газы.

ЗАДАНИЕ N 8    (выберите один вариант ответа)
Прочитайте текст и выполните задания

The Forest Ecosystem
A) Standing amid a forest somewhat resembles standing on a busy street. The forest does not have the same noise and pollution, but the comings and goings of its inhabitants all relate in some way to the total system. For example, standing in a temperate deciduous forest, we might observe a squirrel scampering down a tree trunk with a nut in its mouth, end route to burying that seed in some distant place – where it will later sprout and grow unless the squirrel reclaims it. In a sense the forest is like a multi-dimensional chess game, with each layer having its own characters related to one another, and every layer, in turn, related in diverse ways to the levels above and below. If you move just one piece in a chess game, the whole play may be affected. Similarly, if but one part of the forest’s interconnected ecosystems is altered, the evolutionary progress of the whole community may never be the same again.
B) Maritime Forests going east from the British Isles, we find ourselves in a wide irregular band of temperate broad-leaved trees extending through France, Denmark, Norway, and southern Sweden to Russia. For the most part, this is a gentle environment, subject to the warming influence of the sea. East of the maritime environments, the continental weather becomes too harsh for the survival of such broad-leaved trees. Thus, paradoxically, Europe’s major forest has a delicacy and fragility that means it can suffer badly from misuse by human beings – yet a durability and an adaptability that helps it in withstanding natural ravages.
C) The trees most commonly resident in this zone are English, or pedunculated, oak (Quercus robur) and sessile oak (Q. petraea), especially where good soils prevail. On more calcareous soils beeches grow, together with common ash (Fraxinus excelsior); these two types, which also tolerate cool temperatures, may be found farther north or higher up on mountain slopes. On still higher slopes or in more northerly latitudes live the durable birches. Within these general environments we can look for less abundant trees in quite specific locations: alders, poplars, and willows near water; maples on better-drained soils; and elms in fertile places.
D) Cloudy and rainy weather suits the types of trees that have evolved in these temperate forests, principally mixtures of spruce and oak. In certain areas, the common hazel (Corylus avellana) and hornbeam (Carpinus betulns) grow along with them; but stated simply, this region of intermingling is the southern limit of spruce and the northern limit of oak. Though these woodlands may be dominated by oak, walking through them one will recognize such other familiar species as aspen, pine, linden, elm, and maple.
E) Beyond this larger wildlife, there is a considerable fauna of smaller animals: fox, lynx, and ermine, for example. Typical woodland birds of the temperate forests include the pied flycatcher (Muscicapa hypoleuca), and wryneck (Jynx torquilla). The oak-dominated European and Russian mixed forest extends no farther east than the Ural Mountains; yet after a gap of nearly 7,000 kilometers, oaks and filberts (though of different species) appear again in the Amur River basin of Siberia, on the Chinese border.

Определите, является ли утверждение:
In this text the forest is compared to a game of chess.
1)   ложным	2)   в тексте нет информации
3)   истинным

ЗАДАНИЕ N 9    (выберите один вариант ответа)
Прочитайте текст и выполните задания

The Forest Ecosystem
A) Standing amid a forest somewhat resembles standing on a busy street. The forest does not have the same noise and pollution, but the comings and goings of its inhabitants all relate in some way to the total system. For example, standing in a temperate deciduous forest, we might observe a squirrel scampering down a tree trunk with a nut in its mouth, end route to burying that seed in some distant place – where it will later sprout and grow unless the squirrel reclaims it. In a sense the forest is like a multi-dimensional chess game, with each layer having its own characters related to one another, and every layer, in turn, related in diverse ways to the levels above and below. If you move just one piece in a chess game, the whole play may be affected. Similarly, if but one part of the forest’s interconnected ecosystems is altered, the evolutionary progress of the whole community may never be the same again.
B) Maritime Forests going east from the British Isles, we find ourselves in a wide irregular band of temperate broad-leaved trees extending through France, Denmark, Norway, and southern Sweden to Russia. For the most part, this is a gentle environment, subject to the warming influence of the sea. East of the maritime environments, the continental weather becomes too harsh for the survival of such broad-leaved trees. Thus, paradoxically, Europe’s major forest has a delicacy and fragility that means it can suffer badly from misuse by human beings – yet a durability and an adaptability that helps it in withstanding natural ravages.
C) The trees most commonly resident in this zone are English, or pedunculated, oak (Quercus robur) and sessile oak (Q. petraea), especially where good soils prevail. On more calcareous soils beeches grow, together with common ash (Fraxinus excelsior); these two types, which also tolerate cool temperatures, may be found farther north or higher up on mountain slopes. On still higher slopes or in more northerly latitudes live the durable birches. Within these general environments we can look for less abundant trees in quite specific locations: alders, poplars, and willows near water; maples on better-drained soils; and elms in fertile places.
D) Cloudy and rainy weather suits the types of trees that have evolved in these temperate forests, principally mixtures of spruce and oak. In certain areas, the common hazel (Corylus avellana) and hornbeam (Carpinus betulns) grow along with them; but stated simply, this region of intermingling is the southern limit of spruce and the northern limit of oak. Though these woodlands may be dominated by oak, walking through them one will recognize such other familiar species as aspen, pine, linden, elm, and maple.
E) Beyond this larger wildlife, there is a considerable fauna of smaller animals: fox, lynx, and ermine, for example. Typical woodland birds of the temperate forests include the pied flycatcher (Muscicapa hypoleuca), and wryneck (Jynx torquilla). The oak-dominated European and Russian mixed forest extends no farther east than the Ural Mountains; yet after a gap of nearly 7,000 kilometers, oaks and filberts (though of different species) appear again in the Amur River basin of Siberia, on the Chinese border.

Определите, является ли утверждение:
Beech and common ash cannot grow together, as ash tolerates cool temperatures while beech does not.
1)   ложным	2)   в тексте нет информации
3)   истинным

ЗАДАНИЕ N 10    (выберите один вариант ответа)
Прочитайте текст и выполните задания

The Forest Ecosystem
A) Standing amid a forest somewhat resembles standing on a busy street. The forest does not have the same noise and pollution, but the comings and goings of its inhabitants all relate in some way to the total system. For example, standing in a temperate deciduous forest, we might observe a squirrel scampering down a tree trunk with a nut in its mouth, end route to burying that seed in some distant place – where it will later sprout and grow unless the squirrel reclaims it. In a sense the forest is like a multi-dimensional chess game, with each layer having its own characters related to one another, and every layer, in turn, related in diverse ways to the levels above and below. If you move just one piece in a chess game, the whole play may be affected. Similarly, if but one part of the forest’s interconnected ecosystems is altered, the evolutionary progress of the whole community may never be the same again.
B) Maritime Forests going east from the British Isles, we find ourselves in a wide irregular band of temperate broad-leaved trees extending through France, Denmark, Norway, and southern Sweden to Russia. For the most part, this is a gentle environment, subject to the warming influence of the sea. East of the maritime environments, the continental weather becomes too harsh for the survival of such broad-leaved trees. Thus, paradoxically, Europe’s major forest has a delicacy and fragility that means it can suffer badly from misuse by human beings – yet a durability and an adaptability that helps it in withstanding natural ravages.
C) The trees most commonly resident in this zone are English, or pedunculated, oak (Quercus robur) and sessile oak (Q. petraea), especially where good soils prevail. On more calcareous soils beeches grow, together with common ash (Fraxinus excelsior); these two types, which also tolerate cool temperatures, may be found farther north or higher up on mountain slopes. On still higher slopes or in more northerly latitudes live the durable birches. Within these general environments we can look for less abundant trees in quite specific locations: alders, poplars, and willows near water; maples on better-drained soils; and elms in fertile places.
D) Cloudy and rainy weather suits the types of trees that have evolved in these temperate forests, principally mixtures of spruce and oak. In certain areas, the common hazel (Corylus avellana) and hornbeam (Carpinus betulns) grow along with them; but stated simply, this region of intermingling is the southern limit of spruce and the northern limit of oak. Though these woodlands may be dominated by oak, walking through them one will recognize such other familiar species as aspen, pine, linden, elm, and maple.
E) Beyond this larger wildlife, there is a considerable fauna of smaller animals: fox, lynx, and ermine, for example. Typical woodland birds of the temperate forests include the pied flycatcher (Muscicapa hypoleuca), and wryneck (Jynx torquilla). The oak-dominated European and Russian mixed forest extends no farther east than the Ural Mountains; yet after a gap of nearly 7,000 kilometers, oaks and filberts (though of different species) appear again in the Amur River basin of Siberia, on the Chinese border.

Определите, является ли утверждение:
Trees “breathe” carbon dioxide, like we breathe oxygen.
1)   ложным	2)   в тексте нет информации
3)   истинным

ЗАДАНИЕ N 11    (выберите один вариант ответа)

Прочитайте текст и выполните задания

The Forest Ecosystem
A) Standing amid a forest somewhat resembles standing on a busy street. The forest does not have the same noise and pollution, but the comings and goings of its inhabitants all relate in some way to the total system. For example, standing in a temperate deciduous forest, we might observe a squirrel scampering down a tree trunk with a nut in its mouth, end route to burying that seed in some distant place – where it will later sprout and grow unless the squirrel reclaims it. In a sense the forest is like a multi-dimensional chess game, with each layer having its own characters related to one another, and every layer, in turn, related in diverse ways to the levels above and below. If you move just one piece in a chess game, the whole play may be affected. Similarly, if but one part of the forest’s interconnected ecosystems is altered, the evolutionary progress of the whole community may never be the same again.
B) Maritime Forests going east from the British Isles, we find ourselves in a wide irregular band of temperate broad-leaved trees extending through France, Denmark, Norway, and southern Sweden to Russia. For the most part, this is a gentle environment, subject to the warming influence of the sea. East of the maritime environments, the continental weather becomes too harsh for the survival of such broad-leaved trees. Thus, paradoxically, Europe’s major forest has a delicacy and fragility that means it can suffer badly from misuse by human beings – yet a durability and an adaptability that helps it in withstanding natural ravages.
C) The trees most commonly resident in this zone are English, or pedunculated, oak (Quercus robur) and sessile oak (Q. petraea), especially where good soils prevail. On more calcareous soils beeches grow, together with common ash (Fraxinus excelsior); these two types, which also tolerate cool temperatures, may be found farther north or higher up on mountain slopes. On still higher slopes or in more northerly latitudes live the durable birches. Within these general environments we can look for less abundant trees in quite specific locations: alders, poplars, and willows near water; maples on better-drained soils; and elms in fertile places.
D) Cloudy and rainy weather suits the types of trees that have evolved in these temperate forests, principally mixtures of spruce and oak. In certain areas, the common hazel (Corylus avellana) and hornbeam (Carpinus betulns) grow along with them; but stated simply, this region of intermingling is the southern limit of spruce and the northern limit of oak. Though these woodlands may be dominated by oak, walking through them one will recognize such other familiar species as aspen, pine, linden, elm, and maple.
E) Beyond this larger wildlife, there is a considerable fauna of smaller animals: fox, lynx, and ermine, for example. Typical woodland birds of the temperate forests include the pied flycatcher (Muscicapa hypoleuca), and wryneck (Jynx torquilla). The oak-dominated European and Russian mixed forest extends no farther east than the Ural Mountains; yet after a gap of nearly 7,000 kilometers, oaks and filberts (though of different species) appear again in the Amur River basin of Siberia, on the Chinese border.


Определите, является ли  утверждение:
Species such as aspen, pine, maple, linden and elm can also be found in temperate forests.
1)   ложным	2)   в тексте нет информации
3)   истинным                                     

ЗАДАНИЕ N 12    (выберите один вариант ответа)

Прочитайте текст и выполните задания

The Forest Ecosystem
A) Standing amid a forest somewhat resembles standing on a busy street. The forest does not have the same noise and pollution, but the comings and goings of its inhabitants all relate in some way to the total system. For example, standing in a temperate deciduous forest, we might observe a squirrel scampering down a tree trunk with a nut in its mouth, end route to burying that seed in some distant place – where it will later sprout and grow unless the squirrel reclaims it. In a sense the forest is like a multi-dimensional chess game, with each layer having its own characters related to one another, and every layer, in turn, related in diverse ways to the levels above and below. If you move just one piece in a chess game, the whole play may be affected. Similarly, if but one part of the forest’s interconnected ecosystems is altered, the evolutionary progress of the whole community may never be the same again.
B) Maritime Forests going east from the British Isles, we find ourselves in a wide irregular band of temperate broad-leaved trees extending through France, Denmark, Norway, and southern Sweden to Russia. For the most part, this is a gentle environment, subject to the warming influence of the sea. East of the maritime environments, the continental weather becomes too harsh for the survival of such broad-leaved trees. Thus, paradoxically, Europe’s major forest has a delicacy and fragility that means it can suffer badly from misuse by human beings – yet a durability and an adaptability that helps it in withstanding natural ravages.
C) The trees most commonly resident in this zone are English, or pedunculated, oak (Quercus robur) and sessile oak (Q. petraea), especially where good soils prevail. On more calcareous soils beeches grow, together with common ash (Fraxinus excelsior); these two types, which also tolerate cool temperatures, may be found farther north or higher up on mountain slopes. On still higher slopes or in more northerly latitudes live the durable birches. Within these general environments we can look for less abundant trees in quite specific locations: alders, poplars, and willows near water; maples on better-drained soils; and elms in fertile places.
D) Cloudy and rainy weather suits the types of trees that have evolved in these temperate forests, principally mixtures of spruce and oak. In certain areas, the common hazel (Corylus avellana) and hornbeam (Carpinus betulns) grow along with them; but stated simply, this region of intermingling is the southern limit of spruce and the northern limit of oak. Though these woodlands may be dominated by oak, walking through them one will recognize such other familiar species as aspen, pine, linden, elm, and maple.
E) Beyond this larger wildlife, there is a considerable fauna of smaller animals: fox, lynx, and ermine, for example. Typical woodland birds of the temperate forests include the pied flycatcher (Muscicapa hypoleuca), and wryneck (Jynx torquilla). The oak-dominated European and Russian mixed forest extends no farther east than the Ural Mountains; yet after a gap of nearly 7,000 kilometers, oaks and filberts (though of different species) appear again in the Amur River basin of Siberia, on the Chinese border.

Укажите, какой части текста (A, C, D, E) соответствует следующая информация:
Temperate forests contain tree types such as spruce and oak, which are suitable for cloudy and rainy weather.
1)   E	2)   D
3)   C	4)   A


Примерный образец письменного текста для перевода по английскому языку
Anatomy of a Tree
A trees internal “plumbing” system may at first appear uncanny, enabling it to lift water for more than a hundred meters to the top of the tallest tree or out into widely spreading branches and thousands of leaves and then to carry liquids back again to the trunk and roots. There is, however, no magic involved; it is a marvelously efficient arrangement tried out and refined over millions of years of biological evolution. Water containing dissolved minerals rises to the leaves, where sugar and protein are manufactured with the help of solar energy and then taken back down to nourish the stem and roots. This transfer happens principally in the trunk, and in most trees only near the outer surface of that trunk. A thin film of living cells called the cambium layer supports several kinds of action: the inside of this cambium sheath, toward the center of the tree, consists of a network of tubes, the xylem, through which water rises. Outside the cambium sheath, just under the bark, another system of tubes called the phloem carries food-filled liquids downward.
The cambium is a growing layer, producing sapwood inside and bark outside. With water ordinarily abundant in spring, the cambium produces numerous fibrous plant cells that harden into light-colored wood. During the rest of the year, with water usually less abundant, the fibers form more compactly to produce a condensed layer of dark-colored wood.
	Темы устных сообщений:
1. Жизнь ученого/Проблемы науки и техники.
2. Лес и лесное хозяйство.
3. Моя будущая профессия.


6. МЕТОДИЧЕСКИЕ МАТЕРИАЛЫ, ОПРЕДЕЛЯЮЩИЕ  ПРОЦЕДУРЫ ОЦЕНИВАНИЯ ЗНАНИЙ, УМЕНИЙ, НАВЫКОВ И ОПЫТА ДЕЯТЕЛЬНОСТИ, ХАРАКТЕРИЗУЮЩИХ ЭТАПЫ ФОРМИРОВАНИЯ КОМПЕТЕНЦИЙ

6.1. КРИТЕРИИ, ОПРЕДЕЛЯЮЩИЕ ПРОЦЕДУРУ ОЦЕНИВАНИЯ ЗНАНИЙ, УМЕНИЙ, НАВЫКОВ В ТЕСТАХ ДЛЯ СТУДЕНТОВ ОЧНОЙ ФОРМЫ ОБУЧЕНИЯ   


	
Вид оценочного средства
	


Критерии
	
Процент
	
Максимум вопросов
	
Балл

	
	
	
	
	

	Тест
	Выставляется студенту если 90-100 % тестовых вопросов  выполнено правильно
	100
	19-20
	10

	
	
	93,3
	17-18
	9

	
	Выставляется студенту если 85- 89% тестовых вопросов выполнено правильно
	86,7
	15-16
	8

	
	Выставляется студенту если75-84% тестовых вопросов выполнено правильно
	80,0
	13-14
	7

	
	Выставляется студенту если70-74% тестовых вопросов выполнено правильно
	73,3
	11-12
	6

	
	Выставляется студенту если 65-69 % тестовых вопросов выполнено правильно
	66,7
	09-10
	5

	
	Выставляется студенту если 60 – 64% тестовых заданий выполнено правильно
	60,0
	7-8
	4

	
	При ответе студента менее чем на 60%  вопросов, тестовое задание не засчитывается  и у студента образуется долг, который должен быть ликвидирован в течение семестра или на зачетной неделе
	Меньше
60 %
	1-6
	0


         
6.2. КРИТЕРИИ, ОПРЕДЕЛЯЮЩИЕ ПРОЦЕДУРУ ОЦЕНИВАНИЯ ЗНАНИЙ, УМЕНИЙ, НАВЫКОВ В ПЕРЕВОДЕ ТЕКСТА ДЛЯ СТУДЕНТОВ ОЧНОЙ ФОРМЫ ОБУЧЕНИЯ   

	Вид оценочного средства
	Критерии
	% правильно переведённых предложений
(из 100 %)
	Предельный объём предложений для перевода 
	Балл

	Перевод текста
	а) Смысл содержания иноязычного текста передан точно 
б) Смысл содержания иноязычного текста передан с незначительными неточностями
	От 90 %
	10-15
	10



7

	
	а) Смысл содержания иноязычного текста передан точно 
б) Смысл содержания иноязычного текста передан с незначительными неточностями
	от 70 %
	7-9
	9



7

	
	а) Смысл содержания иноязычного текста передан удовлетворительно 
б) Смысл содержания иноязычного текста передан неудовлетворительно
	60 %
	5
	5




0




6.3. КРИТЕРИИ, ОПРЕДЕЛЯЮЩИЕ ПРОЦЕДУРУ ОЦЕНИВАНИЯ ЗНАНИЙ, УМЕНИЙ, НАВЫКОВ В УСТНОМ ВЫСКАЗЫВАНИИ ДЛЯ СТУДЕНТОВ ОЧНОЙ ФОРМЫ ОБУЧЕНИЯ   
	Вид оценочного средства
	Критерии
	% правильно переведённых предложений
(из 100 %)
	Предельный объём предложений 
	Балл

	Устное высказывание
	 Тема устного высказывания  раскрыта полностью
	От 90 %
	20-15
	10



	
	Тема устного высказывания  раскрыта не полностью
	от 70 %
	14-10
	9



	
	Тема устного высказывания не раскрыта 
	60 %
	9-5
	5






6.4. КРИТЕРИИ, ОПРЕДЕЛЯЮЩИЕ ПРОЦЕДУРУ ОЦЕНИВАНИЯ ЗНАНИЙ, УМЕНИЙ, НАВЫКОВ ВО ВЛАДЕНИИ ЛЕКСИЧЕСКИМИ ЕДИНИЦАМИ ДЛЯ СТУДЕНТОВ ОЧНОЙ ФОРМЫ ОБУЧЕНИЯ   

	Вид оценочного средства
	Критерии
	% правильно названных значений слова
(из 100 %)
	Максимум лексических единиц за семестр
	Балл

	Владение лексическими единицами
	а) Значения иноязычных слов переданы точно 
б) Значения иноязычных слов переданы с незначительными неточностями
	От 90 %
	1300
	20



17

	
	а) Значения иноязычных слов переданы точно 
б) Значения иноязычных слов переданы с незначительными неточностями
	от 70 %
	1000
	15



12

	
	а) Значения иноязычных слов переданы удовлетворительно 
б) Значения иноязычных слов переданы неудовлетворительно
	60 %
	800
	12




0-8



7.  РЕЙТИНГОВАЯ СИСТЕМА ДЛЯ ОЦЕНКИ УСПЕВАЕМОСТИ СТУДЕНТОВ. ПРОМЕЖУТОЧНАЯ АТТЕСТАЦИЯ ПО ДИСЦИПЛИНЕ «ИНОСТРАННЫЙ ЯЗЫК»
7.1. БАЛЛЬНЫЕ ОЦЕНКИ ДЛЯ ЭЛЕМЕНТОВ ТЕКУЩЕГО КОНТРОЛЯ (очная форма обучения)

	Элементы  учебной деятельности
	Максимальный
балл на 1-ю  КТ с начала семестра
	Максимальный
балл на 2-ю  КТ и конец семестра
	Всего за
семестр

	Посещение занятий и работа в аудитории (пересказ, перевод текста, устные темы, контроль выполнения домашнего задания)
	15
	15
	40

	Тестовый контроль	
	10
	10
	10

	Владение лексическими единицами
	10
	10
	20

	Итого максимум за период
	35
	35
	70



7.2. БАЛЛЬНЫЕ ОЦЕНКИ ДЛЯ ЭЛЕМЕНТОВ ПРОМЕЖУТОЧНОГО КОНТРОЛЯ (очная форма обучения)

	Элементы учебной деятельности
	Максимальный балл на КТ с начала семестра
	Максимальный балл на конец семестра
	Всего за
семестр

	1. Тестовый контроль
	5
	5
	10

	2. Перевод текста
	5
	5
	10

	3. Устная тема
	5
	5
	10

	Итого:
	15
	15
	30




7.3. БАЛЛЬНЫЕ ОЦЕНКИ ПРИ ПЕРЕСЧЕТЕ СУММЫ БАЛЛОВ В ТРАДИЦИОННУЮ И МЕЖДУНАРОДНУЮ СИСТЕМУ (очная форма обучения)

	Оценка (ФГОС)
	Итоговая сумма баллов
(учитывает успешно сданный экзамен)
	Оценка (ECTS)

	5 (отлично) (зачтено)
	90-100
	А (отлично)

	4 (хорошо) (зачтено)
	85-89
	В (очень хорошо)

	
	75-84
	С (хорошо)

	3 (удовлетворительно) 
(зачтено)
	70-74
	D (удовлетворительно)

	
	65-69
	E (посредственно)

	2 (неудовлетворительно) 
(не зачтено)
	Ниже 60 баллов
	F  (неудовлетворительно)
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1. Шевцова, Г. В. Английский язык для технических вузов [Электронный ресурс] : учебное пособие для студентов технических вузов / Г. В. Шевцова, Л. Е. Москалец ; Издательство "Лань" (ЭБС). - 4-е изд., стер. - Москва : Флинта, 2013. - 392 с. - Режим доступа: http://e.lanbook.com/view/book/13082/. 

Дополнительная учебная и учебно-методическая литература

Английский язык
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11. Мюллер, В. К. Новейший англо-русский, русско-английский словарь [Текст] : 120 000 слов и словосочетаний с транскрипцией в обеих частях / В. К. Мюллер. - Москва : Дом Славянской книги, 2015. - 768 с.
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